C.191
Maximum of load combinations

GL 32c
(Glued laminated), Service class 1

Eoos = 11200 Nmm® £ = 050 N/mm?

Go.s = 540 Nmm* = 2450 N/mm?

Vu = 115 foox = 2.50 N/mm?

YMaccsseis. = 100 fe = 350 N/mm®

Keys = 1.00

Glulam 190x180
A = 34200 mm®  f,, = 2145 Nimn®
W, = 1.083e+06 mm® f ., = 3520 N/mm’

iy- W, = 1.026e+06 mm®  f_,/ = 3520 N/mm’

iy = 55 mm
i, = 52 mm
l, = 9.234e+07 mm*

l, = 1.642e+08 mm®

Combined bending and axial tension - 6.2.3
Not relevant

Combined bending and axial compression - 6.1.4, 6.2.4
LC: 'LCBULS', kg =0.90, x=0.00.mm

Ocod = 14.25 N/mm? < fc,O,d = 1917 N/mm” (6.2) - OK

2
Ocoq4) , Omid Omag (14L5‘2 0.16 046 _
o Yo KT T o131 t o3 5s + 07052 2==057<1.00 (6.19)- OK
2 2
2604 | 4+ Om'1‘d"rgm‘z‘*='/1425)+07o016 048 _57<1.00 (6.20)- OK
food "™ fo1d Tm2g \ 11917 2755 2755 (6.20)

Combined shearand torsion - 6.1.7, 6.1.8
LC:'LC21ULS" k.., = 0.90, x=3000.00 mm

1, =0.26 N/mim? < frg=274 N/mm? (6.13) - OK

» Bmod




Flexural buckling around axis 1 - 6.3.2

LC: 'LCBULS', kg = 0.90, x=0.00 mm
B,=0.1 (6.29)

_lo_3000_
M=p=g =5470

N [fok _54.70  [24.50
)‘rem‘n\lﬁg‘;‘ = \[S50g = 0814 (6.21)

k1 =0'5(1 +Bc()\rel1 03) +)\rel1 )_
=0.5(1+0.1(0.814-0.3) +0.814%)=0.857 (6.27)

B} ) 1
A7 -
"k +VkZ oAy 2 0857 +\V0.8572- 0.8147

Ocod Om.1.d Omad 14.25 0.16 046
t¥ i, Km , T0889-19.17 T 275657 070 2755

k =0.889 (6.25)

= (85<1.00 6.23) - OK
kc,1 'fo,o,d fm,‘l,d ( )

Flexural buckling around axis 2 - 6.3.2
LC: 'LCBULS', ko =0.90, x=0.00 mm

B.,=0.1 (6.29)

N [fok _57.74  [24.50 _ \
Motz =7 \/E&; =252\ 57500 =0.860  (6:22)

k,=0.5 (1+ B (Are2-0-3) + )‘rel,22 )=

=0.5(1+0.1(0.860 -0.3) +0.860) = 0.897 (6.28)
. 1

2= k, + \/k h,. 0.897 < \J0.837- 08607

Ocod Omitd , Im2d _ 14.25 0.16 . 0.46

_a_a_k —

Koz " fo0q fora  Fuag 08661917 * /072755 2755

=0.866 (6.26)

=0.88<1.00 (6.24)-0K

Lateral torsional buckling - 6.3.3

LC: 'LCBULS', k. Ly/= 0.90, X = 0.00 mm
_ 12.5 Mo _

=l 25 Fa M, +4 M+3 M, 2 N=
= 3000/ 12.5-0.04 +2-190 = 1504 mm

25:024+3-0.04+4-0.04+3-0.08

TNVE g5 1y Goos - ly _ /11200 - 9.234e+07 - 540 - 1.642e+08

=583.99 N/mm?  (6.31)

Omyerit = ler - W, 1504 - 1.083e+06
.
\ Z vk 32.00
o =\ = \/ SoE=0234  (6.30)
)\rel,m =0.234<0.75 > k= 1.000 (6.34)
Omid  _ 0.16

o ho = 7000~ 27,55 = 001 1.00 (6.33) - OK

=0.86<1.00 (6.35)- OK

2
Omtg | ,_Cc0d _ 016 Y, __14.25
Kop fooq 11.000-27.556) *0.87-19.17

k(:rit ’ fm,1,d c2 fC, ,




Bending at apex - 6.4.3
Not relevant

Tension at apex - 6.4.3
Not relevant

Summary
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